Al

A

SA FRRE
M =XE &5 2 =Y X HH(LSEEF/UHSnsS - 2[/SIIH)

SERE1ES R FSES P EE TR (crol: 1)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
PPN} 7,161,580 8,621,678 A1,460,008
Y 2E & =28 N HE 5,156,165 6,779,836 A1,623,671
SYFNYE 2 (FUHESERA) 2,007,518 3,912,413 1,904,895

SAIF=XE AEA 200,000 200,000 0
401 Al HI L S CHYI 200,000 200,000 0

01 Al 198,560 198,560 0
OgAl F=XE A&
200,000,0002%99.28/100 198,560
03 Al&=THHI 1,440 1,440 0
OZAl F=X& A&
200,000,000& +0.72/100 1,440
SEFTUE ANEAE 1,700,000 70,000 1,630,000
401 AIEHIZL S0 1,700,000 70,000 1,630,000
01 Al£H| 1,696,220 69,460 1,626,760
FHALEXNSE ARIFINE =4
10,000,000& * 14! 10,000
O4m2 NEA S &4
600,000,0002%99.37/100 596,220
Odte & HEHAME R B EFH7E &R
10,000,000 * 14 10,000
Oblgs 70742 1 Xgs s8F48 =8 &
AloHesl 1,000,000,000& *14] 1,000,000
O=d SEF (L) A= A=
2HY U AAEHB
80,000,000 * 14| 80,000
03 Al2=THHI 3,780 540 3,240
OARD NBA BYFXT T4
600,000,000& *0.63/100 3,780
W& =XE 2| EXAY 12,000 12,000 0
402 @12t XH=0l1d 12,000 12,000
01 QIEX2AMS B (XM R) 12,000 12,000
ou & F=x& 2| A&
3,000,000 *40H 2= 12,000
(Glk])e] 95,518 1,530,413 A1,434,895
801 OilHIH] 95,518 1,530,413 A1,434,895
01 &2toiibll 95,518 80,413 15,105
@] 95,518,000& » 14 95,518
FXE SR (FIESLR) 2,375,164 2,110,846 264,318
=AY 29 2,105,164 1,750,846 354,318
101 2l24| 116,793 117,435 N642
04 JIZtHI2Z2 X SE+ 116,793 117,435 AB42
OodtH =Rt s 69,521
Sub 89,6002 x2H 52U x52%= 46,592
oFxFsd 89,6003 x2&H »523= 9,319




SA FRRE
M =XE &5 2 =Y FEX HH(LSEEF/UHSnsS - 2[/SIIH)
orel: EXE Az (FHESEE) (cre): 2igl)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
cRdzag
89,6003 x2ZH 252 x150f% 6,720
oMeEER 6,889,350 *14] 6,890
OAHFA HEFIE S5 47,272
Q2 89,6003 x365& 32,704
oxgay
(53,7603 x52==+18 )+(71,6802 525+ 1H )
6,523
oxdI2zsrd 89,6002 x252 *150f% 3,360
oARIEEE 4,684,560 « 14 4,685
201 LEerE2 & 50,660 49,030 1,630
01 At22telHl 25,220 23,790 1,430
Oget=ZH| 2,520
ooty X HFAF - AL HEFXE
L L 80,0003 %23 * 1200 2 1,920
SOIZHIE U HEX BBEXE 28
cIZ2 M 300,000 *23] 600
Oogxz 22,700
oZHFXE & AHFA - MU HE =X
28 ZHolx e
1,500,000 #4220 6.000
COINE YAl FRY X (22
8,000,000 14] 8,000
oZx0t= A =X 2 HE=
7,000,000 *14 7,000
oSY DUXETE ENY 2X (22
700,000 %14 700
SOAZELH= PHA 2K SYEIE
A HRE=2 1,000,0002 %14 1,000
02 S3=4Hl 25,440 25,240 200
OsE2= & HA 18,840
oBYFIY H otHFAFE OV &=
50,0002 x11CH*12& 6,600
oZHFIY H otIHFAE OV Se=
70,0002 «11CH=12E 9,240
o2020E AlE B 012 SEFE A &
&I E Ste=s 3,000,000& *14] 3,000
OAlZ &I Xl 6,600
oZEFAE & otFF=x2= TV =A2
= 50,0002 «11CH*12& 6,600
308 AXHHSOIA 1,727,711 1,584,381 143,330
13 SI12SHUe B HASAIS 1,727,711 1,584,381 143,330
Os&F=1d 289 1,727,711,000& *14] 1,727,711
401 Al HIZ S CHEI 210,000 210,000
01 Al&H| 210,000 210,000




2AM: FXXE
M FNT 5 Y BY TN DH(DSYSH/HEDS - 2RSIIE)
o9l EXE SRR (EHHSHE) (c19): M2l)
A BB (B) - MIRAY - BAS Ofl bt T B RS2
OF&Esg Y otdae| AEiZAL 29
150,000,000 * 14! 150,000
ORYENT(EINNLE FHEY 2
30,000,000 14! 30,000
OSHg 252l DYFXY Fol AALYY
249 30,000,000 * 14 30,000
=IE A2 JH| 270,000 360,000 290,000
401 AlEHIZL 20| 270,000 360,000 290,000
01 Al&Hl 270,000 359, 100 89,100
O3g=x& AMd= El
200,000,000 * 14 200,000
O=4HAE2 SEFNE RE2H AME2 &
Xl 50,000,000 14! 50,000
OGNS $B0I2 SEFXE Hiet B2 (=
OIEN) 20,000,000 * 14! 20,000
S8 FIXN HH(FUNESLESIA) 773,483 756,577 16,906
FEX CHEA 2l 108,200 100,980 7,220
01 elAt| 108,200 100,980 7,220
04 J12tH22HsSE+ 108,200 100,980 7,220
O=8Xt ¢ 108,200
oQI29] 89,600 *2H 52 x52== 46,592
oxFaY 89,600 *2H 1 52 9,319
cggaesg
89,600% 2 *252 *150% 6,720
oABIEEE 6,839,350 * 14 6,890
SISESES 30,000,000 14 30,000
o224 9,000&x2H 15 12& 3,240
SIIETa] 150,000 *2H x23| 600
oAZte2f+H
16,8002 2+ 12A1 2+ 128 4,839
FEX 2N ML= EHI 665,283 655,597 9,686
201 et 544,283 539,597 4,686
01 At 2teltl 90,329 98,129 AT,800
Ozels9| 90,329
o=2H FEX AINLEHAIAH |SX| B
860,670& 123 10,329
oRolct=EJtet (Mol AIAE RN 84
80,000,000& * 14! 80,000
02 =234l 453,954 441,468 12,486
O=30=2 £ HAl 203, 160
o2Y FEX RoUSEIeHIEA) &
= 55,0003 =103 2+ 12 67,980
o=Y FEX ROUEI e SA=
85,0002 * 1030 A+ 123 105,060
SAIE AZAIAE(IMS) Ebl=
15&*50,00024 122 9,000




M RIS
M FAE &5 2 =28 FEXN HS(WSUEF/USLS - SFRSIIHY)
CHelr 28 =X SHE(FXESLSE) CERE)
SN - HE - SRA(SH) - HTAY - BES of &t ST HIDS2
cHEANT S LS LD St=
40,0003 *320H A x 12 15,360
oQIEXel SUE H2I| SWE
60,0002 +8CH 1224 5,760
ON&ZHIRILI 250,794
CEED YUSH FBD SNP4 2
15,0002 *11CH+ 123 1,980
o=2Y FIX RAUSBIMHHLEA) R
Al 2= 50,0002 x103CH* 12& 61,800
oEY FHI HHAAE(XEE) |A
= 160,000 +8LH* 122 15,360
SHEJAIAE SX B4
82,0003 «2CH~ 12 1,968
CUSHTPAA(ATEN) KX =
350,500 x 12 4,206
CWSHHAAR(SIEAN_MH L 2212
) |A B 415,000 123 4,980
oI XA AIZ2 FHl & X
100,000,000 14| 100,000
oAgd 02 FEXSA ANEE RAES
210,000 504 2 10,500
oFFI SNFE XH WM S FH
50,000,000 *14] 50,000
206 =4l 6,000 6,000
01 =4l 6,000 6,000
OFEXt et5FHI(CCTVAHY) 224 B257Y
6,000,000& *14] 6,000
401 AIZHIZL S0 115,000 85,000 30,000
01 Al2H| 115,000 85,000 30,000
TIPS DS CCTVEHLY da3# w
| 3,500,000 * 1004 2~ 35,000
OSYFYR RoUHAIA-(CCIV) &4
35,000,000 #2012 70,000
OSY=dt 2HUH 3N dAFX 4
N 10,000,000 * 14 10,000
HY 2L I (=X 0) 2,005,415 1,841,842 163,573
CIHARHHI(F=XNEHELESI) 1,678,269 1,512,776 165,493
el 2| 1,678,269 1,512,776 165,493
101 2l244| 1,469,966 1,231,752 238,214
03 SR (RIAHA) 22X E =+ 1,469,966 1,231,752 238,214
O=Y =gxt &3 1,412,505
=JlZ2(18238)
2,617,820 x24H«12& 753,933
SN2 2R+ (185 S)
23,403 x24 B +20 Al 2H 12 % 150% 206,842
o UX (185 S)
127,690 x24E « 10 30,646




ro o2 44
J 0 2

M0 HO 2t

SN B(3) - HRAY - BAS ST =
cEYTeaL(1B5E)
191,530 & +24 2 x20 L x 150% 137,902
oHAESIIHI(185 )
2,617,820 x24H % 120% 75,394
o¥I2L+H(1BE2)
2,617,820 x24H +50%*23| 62,828
SIIPSES=y 97,920
—H MG AH| 140,000 x24&H x 128 40,320
== 200,000 x24H x 128 57,600
o XA 80,000& x24H » 12& 23,040
cIIELY 2,000,000&x12& 24,000
OBLFE 223 57,461
oJI2Z2(1788 JIE)
2,564, 730318 x 128 30,777
NFIEEES
23,5303 x 1H*20A| 2+ 128 *150% 8,471
SRGPNES=Y 188,230 12 x 10! 1,883
ogdI2RE
188, 2303 * 1H x202! » 150% 5,647
oHZ2LH (1732 JIF)
2,564, 730& *1H +x50%*23] 2,565
SHEIPSES=, 4,080
—HHFAH| 140,000& 1128 1,680
- =Eat=y 200,000& x1¥+12& 2,400
oXPaH 80,0002 1+ 128 960
oHWASIHI(I72E JI=)
2,564, 7303 *1H % 120% 3,078
304 HA22E2S 208,303 281,024
04 2RR(LI|H) 22X} 2EE28H2 S 208,303 281,024
O&22 188y 222
43,951,000« 14! 43,951
O824 20AZ 22
66, 148,000 x 14! 66, 148
OZ222 Z0IAHAUAEE 2=
48,204,000 * 14! 48,204
O3 g&3 50,000,000 & = 1A 50,000
2HUI(=AEELYEH) 327,146 329,066
JlE&| 327,146 329,066
201 LBt2AH| 254,798 254,798
01 AF22t2l 4| 147,798 147,798
OBt=2H| SHH A
59,715,000 x 14! 59,715
O3AH| SHH A 48,393,000& * 14! 48,393
Oll=H| SHH A 135,000 #37 H #23| 9,990
OAl HAF DEXNEH OHE ACIX YXtz
330,000 x2CH*45 29,700

[l
40
ra
{0




REXHEE 2t
F2d3dl(F J(IIEH/JIEH)
2ZH(F=XE CHo M)
3 5 SIE]
2A-Z3H - H42A(3) - HRAY - BES Ol &+ a&% g
02 Z==24l 107,000 107,000 0
03323 ¥
72,000,000 14 72,000
OXtg - o4
35,000,000& %14 35,000
202 04H| 72,348 74,268 21,920
01 = LHO4 bl 62,748 62,748 0
ORN2dE & 62,748,000& * 14! 62,748
02 MO 9,600 11,520 A 1,920
OZH0Hl 5
160,000& x5« 12& 9,600




